PRATAP PUBLIC SCHOOL, KARNAL
Mid Term Examination (2023-24)
CLASS- IX
SUBJECT: MATHEMATICS

Section RollNo. |

lion A has 20 Multiple Choice Questions (MCQs) carrying 1 mark each. .
3. Section B has 5 Short Answer-| (SA-l) type questions carrying 2 marks each. ’. ' ‘
#p:Mﬁﬁ C has 6 Short Answer-Il (SA-Il) type questions carrying 3 marks each. :

- 5. Section D has 4 Long Answer (LA) type questions carrying 5 marks each. ' '
- 6. Section E has 3 Case Based integrated units of assessment (4 marks each) with sub-parts of the values
g ©f 1, 1and 2 marks each respectively. ' Ju

2R £ S are compulsory. However, an internal choice in 2 Qs of 2 marks, 2 Qs of 3 marks and

of 5 marks has been provided. An internal choice has been provided in the 2 marks questions

s wherever required. Take T =272wherever required if not stated.
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(B) 30°
(D) 40°

(B) Supplementary angles .
(D) acute angles '

(B) an obtuse tnangle G o e -‘: o
(D) a right tnangle i
me"ofx shall we havel"m? AL S Sy 3 4

' (B) 50°
3 : (D) 60° ;
‘nd PR 5cm. Then the Iength of PQis
(B) 8 cm
(D) 75 cm

‘B = LQ The two triangles are 1
e (B) isosceles and congruent

- (D) neither congruent nor isosceles

Tarfhe solutlonsof gy-" s e 5 e 1
A B)Onlytwo solutions

g}\NPHE.Qf)-thESE_ _ ‘ Tt _. £ -“r‘l‘:
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19.

I

The decimal expansion of VZ is
(A) finite decimal
(C) non-terminating recurring

(B) 1.4121
(D) non-terminating non-recurring

Find the value of ¥216-V125 3
(A)1 (B)-1

(C)11 ’ (D) 65

In a frequency distribution, the mid value of a class is 10 and the width of the class is 6. The 1
lower limit of the class is :

(A) 6 (B) 7

(C)8 (D) 12

The product of any two irrational numbers is 1
(A) always an irrational number

(B) always a rational number

(C) always an integer

(D) sometimes rational and sometimes irrational number

Direction for questions 19 & 20: In question numbers 19 and 20, a statement of Assertion (A)

is followed by a statement of Reason (R). Choose the correct option.

Statement A (Assertion): The class representing class mark 30 is 25 - 35 1

upperlimit+lowerlimit
2
(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).
(b) Both Assertion (A) and Reason (R) are true but Reason (R) is not the correct explanation of
Assertion (A)
(c) Assertion (A) is true but Reason (R) is false.
(d) Assertion (A) is false but Reason (R) is true.

Statement A (Assertion): The base of a right-angled triangle is 6 cm and hypotenuse is 10 cm. 1
Its area is 26 cm’

Statement R(Reason): Class mark =

Statement R (Reason): Area of right triangle = % base x height

(a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of
assertion (A)

(c) Assertion (A) is true but reason (R) is false.
(d) Assertion (A) is false but reason (R) is true

SECTION : B
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’ (ii) If the temperature is 0°C, what is the temperature in Fahrenheit, an

——

l‘\ I
Write Vne coordinates of a point by, | : .
(i) above x-axis, lyingony _axis and at a distance of 6 units.

(iii) LyingonY ~ axis below origin at a distance of 4 units.
Write four solutions for each of the following equations:

x4y =7
OR

to Celsius:

9
=|Z|C+3
F (5} +3

(ii) Lying on x-axis, to the left of the originand ata distance 3 units.

In countries like USA and Canada, the temperature is measured in Fahrenheit, whereas in
countries like India, it is measured in Celsius. Here is a linear equation

\ (i) 'fthe temperature is 30°C, what is the temperature in Fahrenheit?

0°F, what is the temperature in Celsius?
29. 1 AC=BD, then prove that AB = CD.

!

30. [fPQ || ST, £POR= 110° and £RST =130%, find 2QRS.

L

OR

250Q, respectively. If /P0OS = x, find £ZROT.

” In Fig., ray OS standson a line POQ. Ray OR and ra.y OT are angles bisectors of £P0S and

d if the temperature is

that converts Fahrenheit




alls of a flyover have been used for advertisements. The sides of the walls 5
20 'm{._.‘Th*e--‘ad've”r"tisemen'ts yield earning of Rs 5000 per m’ per year. A
walls for 3 months. How much rent did it pay?
of a plant are mea

sured correct to one millimetre, and the obtained \ 5
e following table:




35.

e

In right triangle ABC, right angled at C, M is the mid-point of hypotenuse AB. C is joined to M 5
and produced to a point D such that DM = CM, Point D is joined to point B. Show that:

(i) AAMC = ABMD

(ii) DBC is a right angle.

(iif) ADBC = AACB

(iv) CM = % AB

I - ) 1"\;
' M
B (
OR

Two sides AB and BC and median AM of one triangle ABC are respectively equal to sides PQ and
QR and median PN of APQR. Show that:
(i) AABM = APQN

(i) AABC = APQR
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" SECTION: E

e used to construct a bridge in which the base (unequal side) of isosceles

What is the length of equal sides?

Write the Heron’s formula.

M| |~

What is the area of one isosceles triangle?
% [OR]
What is the perimeter of triangular structure of the bridge?

Anil is a Mathematics teacher in Hyderabad. After
Periodic test 3. he asks students to collect the
Mathematics marks of all the students of Class 1X-
A, B and C. A student is able to collect marks from
some students. Rekha scored least mark 6 in the
class and Ram scored highest marks S9 in the
class. He prepares the frequency distribution Lable
using the collected marks and draws ITistogram
using the table as shown in adjoining figure.

What is the width of class interval 1

3 | How many students scored 40% and above marks? N AR

How many students scored less than 50% marks?

\L
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lopathy ‘Bovine” Means
the brain from a sick cow
that it is a disease

ed Bovine spongiform Encepha

that the disease affects cows, “gpongiform” refers to the way
looks sponge under @ miCroscope, and “encephalopathy” indicated

of the brain. This disease is commgl?ly called “mad cow disease.
= Bt ; d i
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BSIE stands for a disease call

A farmer has a field ABCD formed by two pair of parallel roads as shown below in
which £|| m and p || g. His four cows suffering from BSE. Thus, he tied them at four

corners of the field ABCD.
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> m
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51;| B /-<~/) VJ%{J&\

1 [ 1f 2BAC = 30, then find(<CAD) (1)
2 ZABC and £BCD are supplementary angles. Mention reason for it. (1)
3 If we join BD such that BD meet ACat O and 2BOC = 30°, then what is the measure of
£LAOD. (2)
[OR]
If B =45° then find £C, £D, ZA.

* % %k %k kK




